Relationship 11


The correct answer is “including.” Including in sentence 6 introduces the examples of Islam and Buddhism. The other illustration transition in the paragraph is for example in sentence 4.

The correct answer is c. Sentences 3-5 describe high-achiever parents and the effects they have on their children. Sentences 6-8 give a contrasting description of low-achiever parents and the effects they have on their children. Contrast transitions are differing (sentence 1) and on the other hand (sentence 6).

The correct answer is 2. The main idea is that the need for achievement is related to parental attitudes. The rest of the paragraph contrasts achievement needs in children of high-achiever parents with the same needs in children of low-achiever parents.
The correct answer is b. Sentences 3-6 show the positive effects for the individual and the company caused by sharing work in times of hardship, rather than firing workers. 

The main idea is that sharing work in times of hardship has positive effects on workers and the company. The rest of the paragraph describes the positive effects.
 The correct answer is b. The sentence uses the comparison word similarly to signal that extensive advertising has also helped such systems as H & R Block, Jenny Craig, and Pearle Vision Centers become successful. 

The correct answer is a. The passage defines the term ascribed status and provides an example of ascribed status in India—the caste


The correct answer is a. Sentence 1 states the main idea—that whether a nation has a presidential or a parliamentary system makes a big difference in the identity and powers of the chief executive.
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